Fill In The Blanks...

Finding Lengths Using the Cosine Rule
Labelled Substitute X2 X to 1d
diagram into formula P
x% = 7% + 52 , -
2 %7 %5 X cos76 x*=57.065. | x=7.6cm
x? = 11% + 82 ,
2 %11 X 8 X cos 96 x* = 203.397.. |x = 14.3mm
x% =17?% 4+ 102 5
17 %10 X cos 4y | X2 = 157120 | x = 125 cm
x? = 1.62 + 0.92 , -
—2x1.6x09xcos70 | ¥ = 238 | x=1om
®5 © 2 2 2
i x*=5“+12 ) B
o —2x5x12xcos90 | X — 109 | x=13cm
©
x? = 16% + 122 , B
—2x16x12xcos60 | * — 208 |x=laamm
2 _ 292 2 _
x2 =322+ 14 2 _egoy. | * =261

—2 X 32X 14 X cos53

(em/mm/m)




